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Assignment 4
Testing Based on Finite State Machines
Due before 17:00, Monday, December 18, 2006
1. Problems:
In this assignment, you are required to design three suites of test cases based on a finite state machine. You will first construct a finite state machine to model the behaviors of the scanner program that recognizes the keywords and identifiers defined as follows.


symbol = keyword | identifier 


keyword = “boolean” | “else” | “if” | “int” | “return” | “void” | “while”


identifier = letter {letter | digit | “_”} 

1. An identifier is a sequence of letters, digits, and underscores; the first character must be a letter.
2. The following identifiers are reserved for use as keywords, and may not be used otherwise:
    boolean, else, if, int, return, void, while
You then design three suites of test cases based on
(1) all-node coverage,
(2) all-link coverage, and
(3) a better coverage proposed by yourself.
In general, all-node coverage and all-link coverage are not good enough. Therefore, you will propose a better coverage based on this application.
2.  Handing in your assignment: 

You should turn in a word file that contains the finite state machine and the three suites of test cases. To turn in the assignment, login to turnin and execute


  turnin 3021.hw4 hw4.zip
See online manual turnin(1) for more information. 
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